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U1C

74HC00

OE1

CLK11

D02 O0 19

D13 O1 18

D24 O2 17

D35 O3 16

D46 O4 15

D57 O5 14

D68 O6 13

D79 O7 12

U7

MC74HC574

CLK10

RST11

Q12 1Q11 15Q10 14Q9 12Q8 13Q7 4Q6 2Q5 3Q4 5Q3 6Q2 7Q1 9
U3 CD4040

CLK10

RST11

Q12 1Q11 15Q10 14Q9 12Q8 13Q7 4Q6 2Q5 3Q4 5Q3 6Q2 7Q1 9
U6 CD4040

A51
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A73
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A1410

I/O0 11

I/O1 12

I/O2 13

I/O3 15

I/O4 16

I/O5 17

I/O6 18

I/O7 19

CE 20

A021

OE22
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U4

CY62256

PC6 (RESET) 1

PD0 (RXD) 2

PD1 (TXD) 3

PD2 (INT0) 4PD3 (INT1)5

PD4 (XCK/T0)6

VCC 7

GND 8

PB6 (XTAL1/TOSC1)9

PB7 (XTAL2/TOSC2)10 PD5 (T1) 11

PD6 (AIN0)12

PD7 (AIN1)13

PB0 (ICP)14

PB1 (OC1A)15

PB2 (SS/OC1B)16

PB3 (MOSI/OC2) 17

PB4 (MISO) 18

PB5 (SCK) 19

AVCC 20

AREF 21

GND 22

PC0 (ADC0)23

PC1 (ADC1)24

PC2 (ADC2)25

PC3 (ADC3)26

PC4 (ADC4/SDA)27

PC5 (ADC5/SCL)28
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ATmega8L-8PI
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个人认为这里用74HC00匹配时序应该可以省掉，需要实验验证！

VBUS 1

D- 2

D+ 3

GND 4

Top
J1A

1470007-2

100

R3

100

R4

1.5K
R1

S1

SW-PB
VCC

100K
R5
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